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NAME %f/ PERIODIC TRENDS'QUIZ
1. Rank the following elements in order of increasing atomic radius:
Se, Ga, O, Cs, Rb
2. Rank the following elements in order of increasing electronegativity:
P, S, Al, Cl, Si .
ALSHF)S,Cl
3, Why does P-have a lower ionization energy than fluorine? You

must make a reference to atomic radius in your answer.

P ;s lavger Fhan F} fheretore F we {1l have
a qredter /a// on ponding o7,
Use the following diagrams to answer questions 4-9

¢ He

4. Which 'of the atoms has the lowest lonization energy? A

5. Which of the atoms has the Iarggst ire‘ldius? A

6. From which of the 3 atoms'is it njost difficult to remove an outer electroh? C—
7. Which of the atoms would form an ion With a +2 charge? /} ' -

8. Write the element symbols.aboye the diagrams. (all atoms are heutral)

| e,0,He
9. Which of the three aton?s has the highest electronegativity?
B -Oxveen

10. CIRLCLE THE APPROPRIATE WORD TO FI \GH NK.
The noble gases fit the trend for (ionization energy>
electronegativity), because it is difficult to {removédadd)

(a proton, a neutroncan electron these atoms.

ses do not have values for (ionization energy,
electronegativity), because these atoms do % ( (share,%')

produce) (protons, neutronsC electrons) with other atoms.

a. Be oy b. or Ga C. or O d. or Br

12. Gircle the element;in each pait which has the greater ionization ener
a. or Li b. Sr or@ c. S or d. Sn or @

11. Circ@\e element jpseach pair which h@the greater atomi@dius.




13 ~Indicate which has the lagggst radius in each pai ‘ v
a@or K* b. O o c. F or F'5 d./ Al Jor AP BN
14. Whiclrelgment is more giectronegative? -

a. Cl of F b. C o " ¢ Mg ot S d@ or Ca m

15. The ions Se?, Br', Rb*, and Sr?* are isoelectronic. What does this mean?

THE HavE THE spre Numben DF préciovs
Rank these ions (from #15) from the smallest to the largest radius. ( 36 e’)
§/+2, L+l Br ’,’§e'°~< o |
16. Put the following elements in order from MOST reactive to LEAST reactive:
Eodium, Lit-hium, Potassium/( /V‘( L(‘
1NE7)

17. Metals which are most reactive have th/ (low, high) ionization energy .
because these atoms _LOSE (lose, hold on to) their electrons quite easily.

18. Alkaline earth metals are in group _&_ (1 ,2,16,17,18%, and are quite

RepLTEvE (reactive, non-reactive) because they “JpwvATE- _ (donate, take)
electrons relatively easily. The noble gases are in group /¢ (1,2,16,17,18), and
are very M -Réao/é (reactive, non-reactive) because they Pow'T (do,
don’t) form chemical bonds.

19. Metals CM/?M(/ (conduct, don't conduct) electricity. They are

Mpy e asce (malleable, brittle), and _LySTaoes  (lustrous, non-lustrous).
Non-metals Zpw? _(mwiuer” (conduct, don’t conduct) electricity. They are ( >
brzrne  (malleable, brittle), and Aw '/afmau/ (lustrous, non-lustrous).

Metalloids have characterisitics of Bord (metals, non-metals, both

metals and non-metals).

20. Elements in the Qi (d, s, p, f) block are known as transition metals.

21. Quickly explain why anions have a larger radius thah the atom from which
they originate? (for example, why does the S% ion have a larger radius than the S

atom?) ﬂﬂlﬁ (9/86?%ﬂf/ (¢SS5 ///o-fm,f 7 /ﬂ//yn #em
22. Write the electron configurations (1s2 2s2 etc.) for Na and for F.

Na: ./5;2025.20»2/@ 3§l_ F: /f;LZS':ZP?/;

Which of these two atoms has a larger atomic radius? @or F?

Now write the electron configurations for Na*' and F™.

Na*': /$2252°2/5 F /;22520?/5

Which of these two ions has a larger ionic radius? Na*’ |

Explain why these two ions, which are isoelectronic, do not have the same Q)

ionic radius. . :
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23. E/_ electronegativity A. arow on the periodic table

24, E ionization energy B. one half the distance between nuclei in a
m diatomic element

25. A period C. the radius of an atom after it has
gained or lost electron(s)

26. l; group D. an atom’s inner electrons

: the outer electrons from the pull of the nucleus.

27. & atomic radius E. tendency of an atom to attract electrons to
itself in a chemical bond

28. (/ ionic radius F. the energy you use to remove an
electron from an atom

29. IZ shield G. a column on the periodic table

30. valence electrons H. the name given to an atom’s outermost
electrons

31. Indicate how many valence electrons one atom of each of the following
elements has.

) ANBad~  BAS C) Ar § Do b
32. What is the most common charge taken by the following elements

mea T2 ma tl oar 0 - po R

33. As you move across a period on the periodic table, mass increases. \What
happens to atomic radius? Explain why this is the case.

A’Wm;(, L rprus Tectensgs  Advss A /Flfd) - Moce

Prorws « Erscaws Fwihgases THE fuee ON ﬂwz/z
E/ec%/z / /ﬁa((}y/ he a?ldﬂr(c /W[/af sa //L”V

34. You have probably heard that bananas contain potassium and that many
foods contain sodium. Our demo in class showed you that sodium and
potassium react rather violently with water. Here is your job: explain how
bananas and other foods can contain potassmm and sodium without being

dangerous
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